Project 4X/8\—Y1) X+

s A Fp EAN CODE i Al 7 {ifh 173y
110108# UM 7R A T7UM3x6E" A (10Pcs) 8717135042400 ¥650
110109# M3*10i 4ok’ A[10pcs]) 8717135042417 ¥650
110112# U0 7 7WM3x12E° 2 (10Pcs) 8717135042448 ¥650
110115# fi—0—t"2 M3x4 (10Pcs) 8717135042479 ¥600
110119# fi—0—t"2 M4x6 (10Pcs) 8717135042516 ¥600
110122# M3x6 Mt A(10Pcs/7<H 7% 8717135042547 ¥650
110124# 3990 75 F 7WM3x8 (10Pcs) 8717135042745 ¥650
110127# M3x12IME R (10Pcs/7<A7V) 8717135045807 ¥650
110128# 5990 75A 7WM3x5E" R (10Pcs) 8717135045814 ¥650
110129# allen cilinderhead m3x10 (10) 8717135045821 ¥650
110132# M3x16IME R (10Pcs/7XA V) 8717135045852 ¥650
110152# Screw allen cilinderhead M3x8 (10Pcs) 8717135057596 ¥650
110157# M3x5 MME R (10Pcs/7XA TV 8717135058760 ¥650
110161# Screw allen cilinderhead M2x6 (10Pcs) 8717135058807 ¥650
110162# #—0—t"AM3x2.5 (10Pcs) 8717135058890 ¥800
110166# M2.5x51IE 2 (10) 8717135068400 ¥650
110195# 77uh Ayb'M2x6 (10) 8717135088590 ¥650
110208# £V nra 2x9.8 (4) 8717135021887 ¥550
110221# £'v1.7x7.6 (10) 8717135082352 ¥750
1102224 E'Y 1.7x8.5 (10Pcs) 8717135082369 ¥750
1102234 £’y 2.5x18 (10) 8717135087777 ¥750
110302# EYUY 4.0 (10Pcs) 8717135042660 ¥650
110408# Y1, 3x5x0.3(10) 8717135067663 ¥650
110409# Yl 3x5x%x1(10) 8717135067670 ¥700
110410# Yl 3x5x%x2(10) 8717135067687 ¥1,000
110411# Y1, 3x5x%x4(10) 8717135067694 ¥1,100
110436# % 1,3x5x3 (10) 8717135068394 ¥1,200
110443# % 1,5x15x0.2 (10) 8717135072377 ¥1,000
110445# % 1,4x10x0.2 (10) 8717135075927 ¥1,000
110449# % 1\3x6x1(10) 8717135078621 ¥1,650
1104524 M4755Y Tyr(10) 8717135080150 ¥750
110457# ~ et ettt s

1315# A'T7YU5 [5x10/2pcs) 8717135000806 ¥750
13444 A 71545 [10x15x4/2pcs]) 8717135012083 ¥800
1399# ~ e~~~ e~~~ i~~~

1606# TUTTNA7' 89k (7°799/2pcs) 8717135001391 ¥580
1667# 71997 [37 17 L5/10pcs]) 8717135013974 ¥650
401124# =LA T7YH [3x6mm/2pcs/S400FH ] 8717135031657 ¥850
401127# TIVSCVDF 747 %7+ (2) 8717135031664 ¥2 600
401253# ~ e~~~ e~~~ ~ i~~~

401351# 700 M A=-7Y4Y3Y] 8717135057800 ¥1,350
401353# 7AW B=7Y5Y3v] 8717135057824 ¥1,150
401359# 38TYYyNTHIANT =1)— 8717135057886 ¥950
401372# Y=k L — 8717135058005 ¥1,200
401381# CVDAUY—b 2f 8717135058098 ¥1,300
401387# RANT 1mmA7Eyb 24 8717135058159 ¥1,500 0
4013924 IXEUMYIN TV KIVG - 8717135058203 ¥1,200
401401# ATTYYY 4N - 8717135058296 ¥2,900
401409%# NJ347 V% IbE VY w7 8 8717135058371 ¥800
401413# NYT)=9Uk 4 8717135058418 ¥900 0
401430# TIL3Evon'=uh 2 8717135058586 ¥1,000
401570# FTT7 V2 7LA7h (2) 8717135072520 ¥1,600 o
4015884 AF=WATTYUY K AF S411Eryx (2) 8717135074647 ¥1,100
401592# 7T 7tyV3 UK Y b 8717135074685 ¥4,900
4015934 TINIHy7 Y 34Uk 4015928 8717135074692 ¥2,800
401594# T'7%'7 10T+18T 401592F 8717135074708 ¥1,200
401595# 7T 790A%7MV2 (AU YY) 8717135074715 ¥400
401598# X779\ 0V3 8717135076726 ¥900
401600# TS0 THAN 8717135077693 ¥4,800 o
401611# FT WS MIMNEIN2RANTIAN (2) 8717135082307 ¥2,600
401612# 7 WANE VY MU rIbV2 8717135082314 ¥3,500




LR A EAN CODE i Al 7 {iff 17y
401613# 87 W MUMINE N 2T 5— 8717135082321 ¥2 600
401614# F7WIMUMNE N 241 —M2) 8717135082338 ¥900
401615# 87 WY UM IV2R7)0(2) 8717135082345 ¥650
401621# E-3-770390b 8717135083342 ¥2,200 0
401629%# IMILYIhER S411 4.0 (3) 8717135087791 ¥4,500
401633# 73N L7—1)— 19T S411 4.0 (2) 8717135087838 ¥3,800
401645# N=KUMUYey— 4X 8717135092436 ¥7,900
401646%# TNIAY—AT7H— 4X 8717135092443 ¥3,700
401647# AT7T=7L—b 78Uk H—K'V 4X 8717135092450 ¥900
401648%# TN LRI Uh 4X 8717135092467 ¥1,800
401649%# TIIE-3—IOUh 4X 8717135092474 ¥3,700
401650%# Ayh—7"yYa 4X(4) 8717135092481 ¥1,700
401651# A'T7Y57° Ay L+R 4X 8717135092498 ¥6,200
401652# Y=k ¥IVIL—b h—F"Y 4X 8717135092504 ¥900
401653# Y—R TV T AX(2) 8717135092511 ¥1,700
401654# NIYAyR L+R 4X 8717135092528 ¥7,200
401655# ER v U4 —b by7” 4X(8) 8717135092535 ¥500
401656# J4y¥ail =y OF 4X(2) 8717135092542 ¥1,000
401657# 942k =Y Tyn'— 4X(2) 8717135092559 ¥900
401658%# FAA—AAN —H— 4X(32) 8717135092566 ¥700
4016594# T—LIYATUYaY TS 4X(2) 8717135092573 ¥1,700
401660# N7 ¥4Y7 L+R 4X 8717135092580 ¥1,200
401661# CVDEAWTHAN T 4X(2) 8717135092597 ¥2 900
401662# 7LIA-LE VN =KL — 4X(2) 8717135092603 ¥5,000
401663# TIVEVavhHR 71 4X(2) 8717135092610 ¥1,300
401664# Y3997 91 4X(8) 8717135092627 ¥2.100
401665# TIIavhxey7” 4X(2) 8717135092634 ¥900
401666%# A=IL3 Y =947 4X (2) 8717135092641 ¥1,100
401667# YavIE AN 7308 4X(2) 8717135092658 ¥500
401668# YavIE AR 197 4X(2) 8717135092665 ¥500
401669# YavIE AMY 297 4X(2) 8717135092672 ¥500
401670# TILIE= 8 U =457 4X(2) 8717135092689 ¥1,300
401671# Y37 4X(2) 8717135092696 ¥1,000
401672# R =Y 3k B=LE VN — 4X(2) 8717135092702 ¥450
401673# JAUMN YN = 4X 8717135092719 ¥700
401674# 71—LN I — 4X 8717135092726 ¥700
401675# NIYN=M7 7 L—b 7000 K'Y 4X 8717135092733 ¥2 500
401676# PN — 4X 8717135092740 ¥500
401677# NIN=T 7 V—b T h—KY 4X 8717135092757 ¥2 400
401678# Bk bk =/ Ya—br7b 4X(2) 8717135092764 ¥750
401679%# TLIEPINY AN YYIUTIUb 4X 8717135092771 ¥3,700
401680# A-L3" yin =4k = 831 H—k"Y 4X(2) 8717135092788 ¥700
401681# ANTVOY RIS = o0 ayh— 4X(2) 8717135092795 ¥500
401682# YAAN YAV —b 4X(32) 8717135092801 ¥750
401683# 7LIA-E YN =7 Fhyb 4X(2) 8717135092818 ¥5,600
401684# TIVIRTTUI I9Uh 4X(2) 8717135092825 ¥2 900
401685# TIPS AN YAV T Fb 4X 8717135092832 ¥3,000
4016861 TLIFAN METY v A5— 4X(2) 8717135092849 ¥3 500
401687# TUTTIOUE 4X 8717135092856 ¥300
4016884 Yavhxvy7” AX(2) 8717135092863 ¥1,000
401689# 7Y v A87 Wy T—tyb 4X 8717135092870 ¥3,000
401690# A=L3 =ik =) 4X(2) 8717135092887 ¥900
401691# ATTIUY IV RY 2~ 4X(2) 8717135092894 ¥500
401692# TIWVSHAA VYAV 79h LR 4X 8717135092900 ¥4 800
401693# Y39901u5" 4X(8) 8717135092917 ¥450
401694# Ayl =y 3dub 4X(2) 8717135092924 ¥250
401695# TIVIAT7H=7'L—2 4X 8717135092931 ¥1,500
401696 ATTYUT 599 4X 8717135092948 ¥3,000
401697# Avh— 4X(2) 8717135092955 ¥3,300
401698# 87 W MMM Uty 4X (2) 8717135092962 ¥8,600
401699# CVDTIRItEYE AF=IL/TIZ 4X(2) 8717135092979 ¥5,000
401700# 7L3iAyh—0—)b 4X 8717135092986 ¥2 500
401701# A—IL3 yn —tyh 4X 8717135092993 ¥7,900
4017024 A-IL3 Ui — 4X 8717135093006 ¥2 300




s A Fp EAN CODE i Al 7 {iff 173y
401704# Yayhtyh 4X 8717135093013 ¥3,000
401705# A7 white C4.4 4X (2) 8717135093020 ¥450 0
401706# A7U%" yellow C4.9 4X (2) 8717135093037 ¥450 0
401707# A7YY" orange C5.5 4X (2) 8717135093044 ¥450
401708%# AU red C6.3 4X (2) 8717135093051 ¥450 0
401709%# A71)v%" pink C6.9 4X (2) 8717135093068 ¥450 o
401710# 2794 blue C7.6 4X (2) 8717135093075 ¥450 0
401711# A7Y%" purple C8.4 4X (2) 8717135093082 ¥450
401712# A7 green C9.5 4X (2) 8717135093099 ¥450 o
401713# A7vY" grey C10.9 4X (2) 8717135093105 ¥450 o
401714# A71)Y%" black C12 4X (2) 8717135093112 ¥450 0
401715# BEh-KUry— 4X 8717135093129 ¥9 800 o
401716# FOUMN YN =T 7 L—b h—iF'Y 4X 8717135093136 ¥800 o
401717# A=L3 yin—%K—b —Tmmh—1K"Y 4X(2) 8717135093143 ¥800 o
401718# BEY-K VU L-b h—KY 4X 8717135093150 ¥700
401719%# TNVIATZ7H=7'L—b 70UF 4X 8717135093167 ¥3,500
401720# b2 7% 2mm h—ikY 4X 8717135093174 ¥3,200
401721# F =y 31U 45(10) 8717135093181 ¥650
401722# =Y 34Uk 4593—M10) 8717135093198 ¥900
401723# YR THRNEYE 8717135093204 ¥4,300
401724%# YR THRI 8717135093211 ¥2 600
401725# N4 78779 )b THRI2) 8717135093228 ¥2 200
401726# Ay IVbRYY1— 4X(4) 8717135093235 ¥1,200
401727# TLIA T RS = 270 09H— 4X(2) 8717135093242 ¥2 600 0
401728%# Th-l 8717135093259 ¥900
401729%# A8—8—n'yh 4X 8717135093266 ¥5,800
401730# FILIADa—tyh 5L— PAX 8717135093419 ¥13,500 0
401731# FLIAGY2—tyb ALYV PAX 8717135093426 ¥13,500 o
4017324 A7Uh eybh 4X (10x2) 8717135093495 ¥3,900 o
401733# 87 WY UMMV VRAVTIANPAX (2) 8717135094508 ¥2,600

401734# NPT 1+r n—F 4X 8717135094997 ¥1,300 o
401735%# 4yvalk =y A7 n—kr4X(2) 8717135095000 ¥1,100 )
401736# D43k =Y Tyn— n—F 4X(2) 8717135095017 ¥1,000 o
401737# N—FHREYh 4X (8) 8717135095024 ¥2,800 o
401738# Y P—FANTIN =T yEEyh 4X 8717135095499 ¥9,500 0o
401739# TI=FTALTIN =T v¥ 4X (2) 8717135095505 ¥3,600 o
401740% DF—FANTYN =T 9EI9U 4X 8717135095512 ¥2,700 0o
401741# D F=FANTYN =T ¥ AT7F— frirr 4X 8717135095529 ¥3,600 0
401742# Y=THANYYavtyh 4X 8717135095536 ¥3,800 0
401743# T-LIJRATYY3Y =7 L+R 4X 8717135095543 ¥2,000 0
401744# A7 =l TIM547" 4X-411(2) 8717135095550 ¥2,200 o
401746# IAUN AN AY—AT7F— 4X 8717135095598 ¥3,000 0
401747# RRStyh Ya—t 8717135095604 ¥2,700 o
411048# 7Y % AT409 TyM 2pcs/S120&733 ] 8717135037994 ¥750
411063# R vk = [2pcs/S120&733 ] 4582322734154 ¥1,100
411162# AT97009 [2mm/10pcs/S120F8 ] 8717135039066 ¥380
411187# Bk ybk = e7b (2) 8717135047610 ¥1,200
411253# ER bR =)L 4.5mm (4) 8717135054465 ¥1,700
500144# ER Y I0UM U=/ T T5—-(2)[SRX2] 8717135079017 ¥600

50021 1# N7 H4INn7 +0.75mmA 7ty M2) 8717135079680 ¥1,200 0
500212# N7 R4 N7 -0.75mm#A 7ty M2) 8717135079697 ¥1,200
802211# FOUNTY % A87 Wik T 1=y 747/748 ) 8717135015411 ¥1,000
804176# Y7 IXY0Y 4pcs[747/748 ) 8717135045678 ¥480
804200# T 75-R0UY 8717135046705 ¥550
804293 T YR =y e—tyb 8717135071691 ¥1,200 o
804332# Y27 3ryb3nvb 700k [748H] (2) 8717135083465 ¥880
808214# e RG—FR AN Y=y} 8717135006969 ¥500

RO B IETFELERTHBENHYET . V29.07




